f? /?

Algebra 2 Boot Camp Calculator Tips and Tricks

A. Shortcuts with the ALPHA Button (Can also be found using the MATH button):

* You can enter fractions in the proper form by pressing ALPHA — y= —» 1

¢ You can find the absolute value of a value by pressing ALPHA — WINDOW — 1
® You can do Sigma problems () by pressing ALPHA — WINDOW —» 2

¢ You can evaluate logarithms by pressing ALPHA — WINDOW — 5

B. For adding, subtracting and multiplying imaginary (complex) numbers:

¢ Press MODE and cursor down and choose a+bi.
¢ Go back to the home screen 2" MODE and do your calculations. To getthe i, press 2" — |

C. To enter data for regression lines and curves:

e Press STAT — EDIT

® Enteryour x-values in L, and your y-values in L, To clear values, highlight L, or L, and press CLEAR (NOT
Delete!) and ENTER. If you press delete, you will eliminate L, or L,. If this happens, go to STAT — 5:
SetUpkEditor — ENTER and it will put L, and L, back in the program.

¢ Pressy=,thenarrow up to Plot 1 and press ENTER to turn on the Scatterplot.

e Press ZOOM g: ZOOMSTAT to see the scatterplot of your entered data.

e Determine the type of function based on the shape of the graph, whether it be linear (4), quadratic (5), cubic
(6), exponential (0), or logarithmic (B).

e Press STAT and arrow over to CALC and choose the appropriate type of regression. Press ENTER until you
see the equation for your function.

¢ Gotothe y=screen and type VARS—> 5: Statistics — Cursor over 2x to EQ—>ENTER. Your regression equation
will now appear in the y= place. Press GRAPH to see your function going through your scatterplot.

® Youcan now make predictions based on your graph. Press 2™ TRACE to find values of y when given an x
value. Check your WINDOW to make sure the Xmax is larger than the x value you are entering.

e When you finish, turn off the Plot 1 by clicking ENTER. Then press ZOOM 6 (ZSTANDARD) to get back to a
“normal” -10 by 10 graphing window.

D. To enter data for calculating Mean, Median, and Standard Deviation (it is doubtful this will be on the test ©):

e Press STAT — EDIT and enter your values in L. ‘
¢ PressSTAT and arrow over to CALC. Choose 1-VAR STATS. Press ENTER until you see your information.

Remember that X is your calculator’s symbol for mean and ¢ is the standard deviation.

E. To store values for variables:

e Enter the value you want to store and press STO —» X,T,0,n — ENTER.

e If you have more than one variable, press ALPHA, then find the GREEN letter that you want to store the
value to.

¢ Eachtime you need to use that variable, press ALPHA and the GREEN letter.

® Youdo not need to clear the value you stored. If you want to use the variable for another value, just store the
new value and it will replace the old value.

F. To do SIGMA () problems on the calculator (will not do the sum of an infinite series):

* Press ALPHA WINDOW and choose 2. This can also be found using MATH — o(summation)
¢ Usethe X,T,6,n button for your variable and after putting in all values, press ENTER.

G. To solve an absolute value inequality on the calculator

® Move your inequality over to one side and write it in terms of y .
¢ Type theinequality into the y= screen and go to the left of y.. Change the \ to Y 1 for less than and
M for greater than. Press ZOOM 6 (ZStandard). Your solution will be graphed on the x-axis.



H. To find zeros of a function or the factors of a function using POLYMSLT2:
* Get one side of your equation equal to zero.
Press the APPS button and choose 4: PlySmita.
Press ENTER, then choose Option 1: POLYNOMIAL ROOT FINDER.
Fill in the number for the ORDER = highest power/degree of the polynomial (ex: 2 for a quadratic eq.).
Choose a+bi so it will give you both the real and imaginary solutions.
Choose FRAC (So the answer will be displayed as a fraction if the solutions are rational).
Keep it on NORMAL, FLOAT, and DEGREE. '
Press GRAPH (which is the NEXT option)
Plug in the numbers: a, = the coefficient of x?, a. = the coefficient of x and a, = the constant.
Press GRAPH to get your solutions.
If you are looking for a factor of a polynomial, then take the roots and make the factors from them.
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Example: If the roots are -2 and = » then your factors will be (x + 2) and (3x - 2).
3

*  Press 2" MODE two times to get out of the app and back to the home screen.

To solve ANY type of equation on your calculator:

¢ Setyour equation equal to zero and type it in the y = screen. The solution/roots/zeros is where the graph
crosses the x-axis! Press 2™ TRACE 2: zero to calculate the zeros of the function.

® ORput the left side of the equation into y,and the right side of the equation into y, to create a system of
equations and follow the steps in I to solve your system. Only the x coordinates are your solutions.

J. To find the solution to a system of equations on your calculator:
¢ Solve each equation fory. Put one into y,and the other into Vo
s Type ZOOM 6 (ZStandard) to get to the standard viewing window.
e Type 2" TRACE (CALC) —» 5: intersect. Press ENTER 3 times to find your point of intersection.
® If thereis more than one solution, curser close to the point of intersection before pressing ENTER 3 times.

K. To see if two expressions are equivalent using the calculator: Method 1
¢ Graph the original expression in your calculator in ¥s
e Graph one of the answer choices in y,
® Seeif the two graphs line up EXACTLY
¢ Note: There may be two “correct” answer choices. Always choose the most simplified answer.

L. To see if two expressions are equivalent using the calculator: Method 2

Store an unusual number for the variable (like -.2315)

Type the original expression in your calculator, using the variable. Press ENTER to see what you get.
Type one of the answer choices into the calculator, press ENTER and see if you get the same output.
Note: There may be two “correct” answer choices. Always choose the most simplified answer.
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M. To find the probability (without the table) in a Normal Distribution problem, use the LUMS method.

* Type2™ —VARS — normalcdf (L, U, M, S) - ENTER

¢ Typeinthe number for lower (which is the lower boundary of the shaded area), upper (which is the upper boundary of
the shaded area), mean (1), and standard deviation (o).

¢ Click PASTE and Enter. Your values will be on the home screen. Press ENTER again to get your answer.

® HINT: For the lower and upper boundaries, use -1 x 109 and 10% as needed for very small (-0) and very large (+co) limits!
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On the following pages, you will be given problems to practice the above calculator operations. While it is best to
solve problems algebraically first and use the calculator method to check your answers, please use the calculator
method to solve the problems order to focus on the tips that you have learned today.




What are the y-coordinates for the solutions
to this system of equations?
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A. y=-gandy=6
WINDowW
B. =-20andy=-
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. y=-26andy=-11 ( %
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D. y=-27andy =-18 N igé

Simplify (2 3% ”2\[);) %z-f?%
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A. 12x5~8x2\/§—>§§+4y -y ’@?%% v
Y
B. 12X° ~16x" /3%y + 4y’ = 7 1
_1ILC-B0h tHy
. 4x* /3 ~ 4 \J6xy +44)y, %@E}{?a&%ﬁ %{ %% y
b. 12%5+ 4y ' : ;

The amount of lost revenue from tickets not
sold for a concert is shown in the table. The
ticket prices include tax.

Lost Revenue From Tickets Not Sold

Price per . s cex s
Tichet {x} 225 235 455 $125
Humiber of .
Tickets Not Sold| i oo
Emount oflost | e S
o) SLIOG . S2BOG | SS.0B0 340,25

Which equation best models the relationship
between y;, the amount of lost revenue, and
Xy, the price per ticket?

y = 1218(1.01)"
y=997(1o3) )
= 400X — 11570

A
D

y = 156X - 10000

40
D 3n+2
Evaluate
n=5

Which expression is equivalent to the
following expression if no denominator equals
zero?
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Which of the following describes the end

behavior of f(x) = giog(—%x)—i—s as x
5

approaches 0?

f(x) approaches -

f(x) approaches o

f(x) approaches 5

e 0 owlir

f(x) approaches «©

Which of the following is the simplified form

for 8428 -4./63 ? } e
%§§*;:
oy — 12371
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A. 4\[3E
B. 12:/91
4
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Simplify the algebraic expression completely.
Yfsaxty® - 3f2axy” + 31287y

A. x2y3\/é+8x2y36»-4xy4\/6xy
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9. Which expression is equivalent to 2° X*y? 2
A. J2x’y’
B. 2xy’ 42Xy
C. if4xsys
D. 2%y J2xy
10. Which of the following is a factor of 15.
10X* + 14X ~ 127
A. 5+)
b 2%
1. Click on a box to choose each expression you
want to select. You must select the two
correct expressions.
Identify each expression that is equivalent to
6.
$/729g"r" . Select the two answers that are
correct.
12. Which of the following are equivalent to i®?
I —i I H i 2
v v
17.
13. Perform the indicated operation and simplify

(7-6i)(3+2i)

A.
B.
C.

33-4i
33-32

What is the solution set for 3jax+7|+9=—15 ?

Which of the following is tggsolut on of 3
—3-x-3§—82—5 ? %‘%}%ﬁ% 2% gf}iﬁ};wﬁé
4 7 ;%Z‘,EQ s%}igdil}
1526 XKL O
Aol —|— || by
}.A;MQ -8 -6 -4 -2 g 2 4 & & 10 12

B I
-2 36 -8 6 -4 -2 g 2 4 6 8 10 12
B e ——
j2.30 -8 6 -4 2 6 2 4 & 8 10 12
D B s *% f pp——
32010 -8 6 -4 2 8 2 4 6 8 1§ 12
Which of the following are the roots for
3 —2x+7=xX 42 7
p. 32
22
Determine the nature of the s%utions
v E —
of 11X’ +9x=-2 %gg %%}Q'%Z* O
. 7)
two real solutions éi%z’ 4

two imaginary solutions fg

@é{}t sy
_ 1real solution ,

O N WP

1real and 1imaginary solution



18. Solve 5-2(3x* —2x) =x" +7 -2’ 23.

A. { = } 5—{0%»«%: gl
0= UK +2

41 56-400)
©
Grizd
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19. Solve —+ =P

20. Identify the x-coordinate of each point that is
in the solution set of the system of equations.
winlOow
y =X+ 7x~ 6 [H0,10,1,0 100, 1 3
y=5(x-2y-8 = (15, ~ 815)
e . (7

-3 3 13 27 6 72
16 4 : 8
Identify each function with the same range as

f(x):‘x{—4 ———— C
Yt Dt e

21
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27.

22. The braking dxsénce of an autorgobxle varies
directly as the square of the speé&d. If the
braking distance of a certain car is 49 feet at
30 miles per hour, find the approximate

braking distance at 65 miles pcet:r hour
A=zkst . 4= s
49 = [(_(,’.70)'L ‘i())
4o d=dd
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24.

25.

26.

Which of the following functions have a
domain of {x[x>7}? Circle all that a;ply

y=x—7+1 B y=Ux 544 y=5"7+3 -

Grewseen Y= Fgen v

Throughout which interval is the function

f(x) =2x> —3x* —12x increasing?

A. —2 <X <@ -0 < X4 |
< O
G p 24
C. qex<2
D. —20 <X <w
The graphs of y = 3 . y:H2 ) =32
X—2 X2 3x —-12

all share an asymptote of:

3%)\14,)0&"1)

B X=1
C y=2
D. y=1

How many non-real solutions exist for the
polynomial function? f(x)=§ +x’—2x* —12x -8

~|

»
C. 1 ‘!2 5:‘5“/[ 3
D. ) "“‘Jmﬂ'ﬂo

How many different four-digit numbers can be
made using the digits 1, 2, 3, 4, 5, 6, if no digit
can be used more than once?

B 90
30
D 15




28.

29.

30.

The table shows the number of new stores in 31. The mean amount of time that a manager

a coffee shop chain that opened during the spends in annual performance review with an
years 1986 through 1994. Using x =1to employee is 27.2 minutes, with a standard
represent the year 1986 and y to represent the deviation of 4.9 minutes. Approximately what
number of new stores, determine the percentage of annual performance reviews in
equation for the curve of best fit that most the department take between 17.4 and 37
closely models the data. Round all values to minutes? VY

the nearest hundredths.

=49

A 20% /
Year Number of ‘ B. 50% j s gl
New Stores . . %1
C.  68% (1Y 211 : -~
1986 14 “D. > [
o | s
1988 48 32.  A10 person student council will be selected
1989 “8o from 18 students at a school. How many
1990 110 possibilities are there for this se council?
1991 153 P
1992 261 5%5;"’;@ .
1993 493 33. Twelve dogs are competing in a dog show. In
1994 681 how many ways could they place first, second
and third?
A, y = 71.58x — 160.47 'Y,
“B. y =10.60(1.59) A. 6 12 %/’3
C. y =14.98%% - 78.17X + 114.07 W% %%%
D. y =-128.40 + (229.08) In x <‘ S
D. 79,833,600

The amount of ’c;gﬁe required to stackbboxes

varies directly with the number of boXes and

inversely with the number of peﬁ%ie who are 34
stacking them. If 2 people can stack 60 boxes

in 10 minutes, how many minutes will be

The heights of 200 kindergarten students at
T.E. Wright Elementary are normally
distributed with a mean of 40 inches and a

requireg‘or 6 people tc% stack 120 boxes? Z:candarq divilat;on of1.8 inih?‘ tsh | g %
. gﬁ.;égg %) - pproximately how many students havea ~
P § 4 benidl
% %@ %@ - 7 ? -%; i‘g height between 37.3 inches and 44.5 inche
7% I A
3 %f_/f 1R

[

A normally distributed set of 968 valueshasa
mean of 108 and a standard deviation of 11.

Which is closest to the number of values 35
expected to be above 125?

The running times for a group of 200 runners
to complete a one mile run are normally
distributed with a mean of 6.5 minutes and a
standard deviation of 1.5 minutes.
Approximately how many of the runners have
a time greater than 8 minutes?

A. 910
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